AF — Paper / Subject Code: 13002 / Cost Accounting 1V

Q. P. Code: 39726

[Time: 2.30 Hours] 05 € [‘M"arks:75‘] ;

Please check whether you have got the right question paper.

N.B: 1. All questions are compulsory.
2. Each questions carries 15 marks. ;
3. Figures to the right indicate full marks. N
4. Use simple calculator. :
5. Working should form part of answeér.
Q1 (A) Fill in the Blank (Any 8) Rewrite the sentence 5 ; . ®)
L% Budget is a budget of income or expenditure appropriate to,
or the responsibility of, a particular fu’nction””(Master/FunctiQhal) BN
2. CIMA has defined a ~_ Factor as — “ the factor the extent of whose

influence must first be assessed in order to ensure that the functional budget are
reasonably capable of fu]ﬁlment’_’(key/variablé)’ ' o

Cost is the amount by which total cost changes if the output
is changed by one unit.(Marginal/Standard) o

(98]

4. An increase in the selling price per unit will o SRV
Ratio.(increase/decrease) - e i ; ;
5. Contribution is equal to profit plus ' (Variable cost/Fixed cost)
6. Standard cost refers to (Pre- determined cost/sunk cost)
7. Labour rate variance is due to changein= (hours/rate)
8. The most profitable sales mix is one which gives maximum -
(Contribution/Sales ) il ; PGS,
9. No past reference is considered while preparing (sales budget/zero base
budget) , A
10. Production Budget is expressed.in - .(quantity/amount &
quantity) : ; ; v
Q1 (B) State whether statements are True or False (Any 7) Re write the sentence @)
1. Master Budget is a budget which is designed to remain unchanged irrespective of the level
of capacity. S

2. Idle time variance is always favourable. ;

3. The basic difference between a fixed bud get and a flexible budget is that a fixed budget is
a budget for a single level of activity, while a flexible budget consists of several budgets
based on different activity levels.

4. Sales budget provides the necessary input data for the Direct Labour Budget.

5.1f a company increases fixed cost, then the breakeven point will be lower.

6. Cash budget includes estimated receipts and estimated payments.

7. In marginal costing the price can be fixed on the basis of only variable costs.

8. Standard Costing technique uses standards for cost and revenues for the purpose of control.
9. Margin of safety indicates profit.
10. A negative Sales variance is said to be favourable.

Q2(A). The turnover and profits during the two periods were as follows

Sales (Rs.) Profit (Rs.)
Period 1 40 Lakhs 4 Lakhs
Period I1 60 Lakhs 8 Lakhs
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Assuming that the cost structure and selling prices remain the same in the two periods,
calculate ;
1. Profit Volume Ratio
2. Break Even Point of sales
3. The sales required to earn profit of Rs. 10 Lakhs
4. Margin of Safety in Period II
5. Profit when sales are Rs. 50 Lakhs as)
OR

Q2 (B). From the following particulars find the mostpi"‘oﬁtable pro‘d_uct mix and prepare a
statement of profitability of the product mix: NP v

| Product 5 S Product
FOlE A Product B C
, TSRS Rs.i7 Rs.
Units budgeted to be produced and sold -~~~ 11800 *i ~-3000 1200
Selling price per unit Rs. i DO T a  EOT 50
Requirement per unit: ; ) i
Direct Material S8 ke 3kg 4kg
Direct Labour v 4TS, 3 hrs. 2 hrs.
Variable Overhead F 13
Fixed Overhead ‘ 10 10
Cost of Direct Material perkg Rso & 4 4
Direct Labour per hour Rs s 27¢ -
Maximum possible units of Sales 4000 5000 1500

All the three products are produced fro'm\the‘Same‘ diréct material using the same type of
machines and labour- Direct labour, which is the key factor, is limited to 18,800 hours.

, 1s)
Q3(A) Shangrilla Foods PrdductsLhn ited h‘ellspr’iepared'the following sales Budget for the
first five months 0f2018. : SR e

Sales Budget (in Units)

The inventory of finished products at the end of every month is to be equal to 25% of

the sales estimate for the next month. On |t January 2018, there were 2,700 units of
product on hand. There is no work-in-process at the end of any month,

Every unit of product requires two types of materials in the following quantities:
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Material A : 4 Kg. Material B : 5 Kg.

Material equal to one-half of the next month’s pl‘OdLlC‘[vi,Q:f&lﬂ; 0 bem handatthe end &2
of every month. This requirement was met on 1% JanualijO A ko
Budgeted prices for the purchase of materials are
Material A : Rs.3 per kg., Material B : Rs.2 peerg

Prepare Purchase budget for first quarter o 8J anualy to March

(Quantity and Value)

Q3(B) Excellent Manufacturers can produce 4000
The following information is obtained fro(

Units Produced

Repairs and Maintenance
Power

Shop Labour
Consumable Stores -
Salaries
Dep1e01at10n

and semn var 1able cost

Q4 (A). The detalls are: avallable ﬁom the records of Binny Ltd. Engaged in manufacturing article

< ‘S f01 the month of Ap1 il ‘\201 8; The Ctamdard data and actual datz are as follows:

: Standald;\ Actual
; @ OO”uni't"s,) (1000 units)
Material Quantlty | < 'Rate per kg Quantity Rate per kg
By 1208 kg Rs. 10 1250 Rs 9.5
Labour : Houxs Rate per Hour Hours Rate per hour
~ f ' 90 < Rs. 15/ 875 Rs. 100
Ca lculate Materlal and Labour Varlance (15)
~ OR
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Q4 (B) In department “A’ of a plant the following data are submitted fér thie:\'yéfcjk‘eynded; s <
March, 2018 o< g ;

Standard Output for 40 hours per week 1400 units

Budgeted Fixed Overheads oR&: 14005 &

Actual output - 1200 units

Actual Hours worked S 32 hourse” &

Actual fixed Overheads L SReA5008 : :

You are required to prepare a statement of variances’ . o0 4 S5 (15)
Q5. (A) State the steps in budgetary control system? PP e AR : (8)

(B) What are the benefits of Standard Costing? RS : ‘ ; 7
QS.Write short notes (Any 3) (15)

(a) Sales Variance
(b) Break even chart AT BT ;
(¢) Absorption Costing Vs, Marginal Costing P
(d) Limiting Factor T SRS,
(e) Decision making in marginal costing oo S
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